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6946
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= 12

2689
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3668
= |80

Grade:
Computation- Subtraction

Calculate each difference.

2785 8727 6/89 3785
- Ho4 =2 B L., = 5b3 ~ | 63
1375 /896 0687 H362
= |55 =l ' s = 536 - 160
5667 2946 2689 Hees
- |4 - 640 - 305 = Ha5&
2837 367

= _|I£ = _HZ

You have made it This far. Brilliantl
Try two word problems!
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Please show your working. (You can do this on a piece of paper)

: On Thursday 23rd September, at the Scholar School, there
: was a PTA meeting with 7947 parents attending. 133 of :
: Those parents were fathers, the rest were mothers. How :
: many parents were mothers? '

: ______ parents were mothers.

i At home time, the buses came to collect students. Inall,
: 2362 students take the bus home. However, on this day 5 :
: students stayed at school so watch the football match.
i How many students took the buses home?

i ______students took the buses home.
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